BLS 386: Global Environmental Issues

PS#0 (Ungraded)

Some data:

	
	Current population
	Area (km2)
	Population density (people/km2)
	Population growth

(%/year)

	King County
	1.6 x 106
	5.5 x 103
	
	1.4

	Snohomish County
	5.3 x 105
	5.4 x 103
	
	2.4

	Puget Sound region 
	2.8 x 106 
	15.2 x 103
	
	1.9

	China
	1.1 x 109
	9.3 x 106 
	
	1.4

	Earth 
	6.0 x 109
	1.5 x 108 (land only)
	
	1.5


1) Complete the table by calculating the population density for each region. 

2) Now calculate the population the Earth would have if the entire land surface were as populated as Puget Sound.  

3) Estimate the population of King and Snohomish county in 5, 10 and 20 years, assuming each continues to grow at the same rate.

4) The per capita emissions of carbon dioxide for China, US and Russia are 

0.6, 5.2 and 4.0 metric tons C per person per year and the populations of these three countries are (approximately): 1 x 109, 2.2 x 108 and 2.5 x 108, respectively.  Rank these three countries in order of there total carbon dioxide emissions.  Given that the total fossil fuel carbon dioxide emissions are ~5.4 x 109 metric tons of C, what fraction of the world total is emitted by these 3 countries?

5) Determine the answers to the following: 

a) 1.53 x 1012 x 3.43 x 102  =
b) 3.43 x 10-2 x 4.32 x 108 =

c) 4.54 x 106/8.43 x 10-14 =
d) 4.54 x 106  +  8.43 x 10-14 =
6) Solve for X and Y:

A) 3X + Y =  85

2X = Y

B) 4 X2 = - 8 X




7) Consider the graph above which gives the global population and CO2 emissions.    Calculate the % increase in population and CO2 emissions between 1960 and 1980.  Use 1960 as the base year (ie the denominator) .  What do you conclude from this?
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Do the following questions by yourself:

8) In 2 or 3 sentences and in your own words (no dictionaries), define “science”. 

9) In 2 or 3 sentences and in your own words (no dictionaries), define the “scientific method”. 

